Chapter 6 Accounting for Provisions, Contingencies and Post Balance Sheet Events

Answers to Exercises

Answer – Exercise 1

A liability is a present obligation of the entity arising from past events, the settlement of which is expected to result in an outflow from the entity of resources embodying economic benefits.

Accruals for electricity consumed are liabilities to pay for electricity consumed but have not been paid and invoiced. Although it is necessary to estimate the amount of accruals, the uncertainty is generally much less than for provisions and it is not difficult to estimate our consumption pattern based on the past record.

Answer – Exercise 2

Present obligation as a result of a past obligating event – The obligating event is the contamination, which gives rise to a constructive obligation because the conduct of the entity has created a valid expectation on the part of those affected by it that the entity will clean up contamination.

An outflow of resources embodying economic benefits in settlement – Probable.

Conclusion – A provision is recognised for the best estimate of the costs of the clean-up.
Answer – Exercise 3
Present obligation as a result of a past obligating event – The communication of the decision to the customers and employees on 20 December gives rise to a constructive obligation from that date, because it creates a valid expectation that the division will be closed.
An outflow of resources embodying economic benefits in settlement – Probable.

Conclusion – A provision is recognised for the best estimate of the costs of closing the division.

Answer – Exercise 4
The total provision required for the costs of the closure is determined as follows:

	
	$m
	$m

	Loss on the sale of net assets
	
	16.0

	Related costs
	
	

	Redundancy
	2.0
	

	Penalty
	3.0
	

	Professional
	1.5
	

	
	
	6.5

	
	
	22.5


The operating losses of $4.5 million in the period from 1 January 2008 until the date of closure cannot be provided for at the date the closure is announced, unless further information is available to prove that the losses arise from an onerous contract.

Answer – Exercise 5
(a)

HKAS 37 requires that the measurement of a provision be the best estimate of the expenditure required to settle the present obligation at the balance sheet date and that the amount of a provision should be the present value of the expenditure expected to be required to settle the obligation if the effect of the time value of money is material.

One of the difficulties in measuring the amount of the provision is that judgement of the enterprise’s management is required. The estimates of outcome and financial effect are determined by this judgement based on:

(i)
the enterprise’s experience in similar transactions;

(ii)
opinions or reports from independent experts;

(iii)
additional evidence provided by events after the balance sheet date.

Moreover, it is difficult to determine the appropriate discount rate for the purpose of counting the effect of the time value of money. However, HKAS 37 does not provide clear guidelines on this, except that the discount rate adopted:

(i)
should be a pre-tax rate;

(ii)
should reflect current market assessments of the time value of money and the risks specific to the liability; and

(iii)
should not reflect risks for which future cash flow estimates have been adjusted.

(b)(i)

Under HKAS 37, a provision should be recognised when the following conditions are met:

(i)
an enterprise has a present obligation as a result of a past event – the present obligation to settle the loan defaulted by the subsidiary is caused by the guarantees provided by Ramy Limited for its subsidiary.

(ii)
it is probable that an outflow of resources embodying economic benefits will be required to settle the obligation – on 30 April 2004, it is probable that an outflow of resources embodying economic benefits will be required to settle the obligation, i.e. the loan defaulted by the subsidiary.

(iii)
a reliable estimate can be made of the amount of the obligation – the amount of the borrowings outstanding, at the time the subsidiary is declared bankrupt, is probably is the best estimate of the obligation to settle the default on the loan.

Since the above conditions are met, the outstanding amount of the borrowings guaranteed by Ramy Limited should be recognised on 31 March 2004. The accounting entries should be:

	
	Dr ($)
	Cr ($)

	Profit and loss
	1,300,000
	

	Provision for loan guarantee
	
	1,300,000


(b)(ii)

HKAS 37 states that contingent assets usually arise from unplanned or other unexpected events that give rise to the possibility of an inflow of economic benefits to the enterprise. Based on the legal advisor’s advice, a favourable settlement is probable, but not virtually certain. Therefore, the past event – that is, the breach of contract of its business partner – does not give rise to a contingent asset because it does not provide evidence that an inflow of economic benefits to the enterprise is virtually certain. In accordance with HKAS 37, a contingent asset is disclosed where an inflow of economic benefits is probable. Therefore, Ramy should not recognize any contingent asset but should disclose the nature of the contingent asset at the balance sheet date and an estimate of its financial effect, where practical.

(b)(iii)

Under HKAS 37, a provision should be recognised when the following conditions are met:

(i)
an enterprise has a present obligation as a result of a past event – the decision to close the division has been communicated to the customers and employees; this is an obligating event which creates a valid expectation that the division will be closed.

(ii)
it is probable that an outflow of resources embodying economic benefits will be required to settle the obligation – therefore, the resource outflow relating to the costs of carrying out the division’s closure is probable.

(iii)
a reliable estimate can be made of the amount of the obligation – since the redundancy notices were sent to the division’s staff and assuming the redundancy plan has already been fixed, the management of Ramy Limited should be able to estimate the amount of redundancy costs reliably.

Since the above conditions have been met, Ramy is required to make a provision for the redundancy costs of $3 million at the balance sheet date:

	
	Dr ($)
	Cr ($)

	Profit and loss
	3,000,000
	

	Provision for redundancy
	
	3,000,000


Answer – Exercise 6
The financial statements are authorised for issue on 18 March 2008 (date of board authorisation for issue).
Answer – Exercise 7
Items A and C are adjusting events because further evidence are provided regarding the conditions that existed at the end of the reporting period.

Items B, D and E are non-adjusting events because those events are indicative of conditions that arose after the end of the reporting period.
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